A & 0l & A &2 F Al
20143 & =04k LBHSIH CHHE M 2
A GHEA2
B ZBCHD HE L 29
Sel: SHEE L NEHS )
SA - BB B () - MM - BES Ol &t o San HmEET
CHHE M 2 1,390,518 1,357,020 33,498
& 150,000
AlHI 204,000
- Hl 1,036,518
SSAE BE 2 2H 1,213,278 1,182,029 31,249
& 150,000
AlHI 204,000
T Hl 859,278
=SEMEE R NEES 141,800 142,266 A 466
AlHI 30,000
T Hl 111,800
Az 107,320 106, 144 1,176
AlH 30,000
T Hl 77,320
201 Let249H] 7,320 6,144 1,176
01 At 22l 7,320 6,144 1,176
odE 2= 1,920
ER2PN 16,0003 x8F «12& 1,536
PNR=DN 12,0003 x22 + 128 288
ENLS DN 4,000 x2S+ 128 96
O&X == 15,000& x30& + 128 5,400
405 XHoHF S HI 100,000 100,000 0
AlHI 30,000
T Hl 70,000
02 =M=l 100,000 100,000 0
O&EMN=¢ 100,000
2ot Y M2 EAN 12,000& =8,000& 96,000
AlHI 30,000
24| 66,000
- CIXIgXt&(Co, OVD S) 25,0002 1604 4,000
EAZ Eel 7,840 6,352 1,488
201 L2l 7,840 6,352 1,488
01 At 22l 7,840 6,352 1,488
OEAMXg 88 7¥ 7,840
5 ctd 10&%12,000& 120
- HIRE etY ESH Y 20& *12,000% 240
0| oY ESsHY 30&+12,000& 360
RFID EH2 500& *12,000& 6,000
RFID £ AEIA 203 +12,000& 240
ZEEA 110,000 3 330
COAIOI A (HH) 2753 2,000 550
SHNEE AMSEFA 8,440 11,570 A 3,130
201 Let24d] 8,440 11,570 A 3,130




A GHEA2
B ZBCHD HE L 29
Sl SNEE 2 NHERES SREED
A ZE a9 (3) - HRAY - BYS Ol &t o San HmEET
01 At 22l 8,440 11,570 A 3,130
O=KNa & A 2,830
2t SH (ST S) 20,000 10X 200
29283 200,000& =14 200
EAPNE= 70,0003 3 210
CBAEE S22 1,000,000& 13l 1,000
CEE Bde 500,000& =13l 500
=R 80,0002 *9H 720
OEAMZ =2H#AL 1,960
ZA=E 70,0003 2 140
2IALEE 100,000& 14 100
M =H EZ 500,000& x13l 500
T8 3¢= 500,000& =13l 500
e 80, 000& *9H 720
O538 e ol &#At 340
UM 70,000& 2 140
2I9LEE 200,000 » 14! 200
O=Ad &d 750
Helol SARAZ 10,0002 x5H »12& 600
98 O2l0la AN 2ELAEE
150, 0002 14 150
Ogsa=sMua 760
LA 70,000& *43| 280
2IALEE 200,000& =23l 400
=9 40,0003 »2H 80
OHHIAEIA 23 6,000& «2521 «12& 1,800
gMsts 29 18,200 18,200 0
201 YEr2 Y| 18,200 18,200 0
01 At 22l 18,200 18,200 0
O=3t2 & ZA=2 70,0003 10218 2 &t 5,600
OLA=0 2 ZA==E
70,0003 103|208 & &t 1,400
OFEsuEg 2AxE
70,0003 «8 «203] & &t 11,200
2SN 2Y 1,071,478 1,039,763 31,715
= 150,000
AlHI 174,000
- Hl 747,478
2HE X A E 947,350 933,608 13,742
& 150,000
Al 174,000
-l 623,350
307 21201 A 947,350 933,608 13,742
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B ZBCHD HE L 29
el ZBEHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
= 150,000
Al Hl 174,000
2| 623,350
05 0I2t2 et 32 947,350 933,608 13,742
(OFSR PN == 947,350
S AXE 498,000,000& 498,000
FL) 150,000
AlH] 174,000
2l 174,000
29| 449,350,000& 449,350
T2 2GR 65,380 67,105 N1,725
101 e1214| 40,010 38, 186 1,824
04 JIZtHIZ2E2XNHEE 40,010 38, 186 1,824
OENE 29YR BX 40,010
- o1 A Y| 60,2363 *2H x240 28,914
- =Xt 60,2363 x2H x49L 5,904
- AR 60,2363 »2H x11 1,326
22X ¢ 60,2363 *150%*2H 181
- RUAZEE 223 36,325,000 *4.5% 1,635
- NEEE 232 36,325,000& *1.5% 545
SAMEE 22 36,325,000& *1.0% 364
- RUHLEE Y2 36,325,0003 *2.945% 1,070
COEDIQABYE 2E2
1,070,000& *6.55% 71
201 LEt2 Y| 7,495 10,286 N2,791
01 At 22l Yl 7,045 9,736 N 2,691
O29ES 4,745
/I mely 2l 22,000& x52 110
SME TelfHEX 66,000& x5 A 330
- ASUHE BtEdl X 125,000 *38F A 375
ey JtEeX 150, 0003 x8CH *23] 2,400
A ZIXHE HIEY 132,000& » 10+ A 1,320
20 &2 14,0003 x 158 A 210
O3dHE H& 1,150& *2,0000H 2,300
02 53294l 450 550 A 100
O M& &3l 450
SR AN @3 (Haldl) 150,000& 150
22 M2 g3 (H3lHl) 300,000 300
203 € R =&lY| 1,000 1,000 0
03 Al =X H 2 =X Y| 1,000 1,000 0
OENZ2Y gRF=X 1,000,000 1,000
301 Yere A 7,652 6,881 771
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B ZBCHD HE L 29
?H?: SSEMNS 29 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
08 BAUZRRABAZ 7,652 6,881 771
OUEN2 2EEX 7,652
== 129,600& x2H »12& 3,111
S Al 6,000 x2H 22«12 3,168
St 2,600 x2H «22U «12& 1,373
405 XHoHF S HI 9,223 10,752 A 1,529
01 AL EZFH S 9,223 10,752 A 1,529
ONgolxRz4d &Il 3,421
4¢h SANIH(AEH) 520,380& 2K 1,041
4 SANIH(OIA) 427,280 & x2H 855
4Tt SANIHHE) 520,380& 2K 1,041
- sceteld 484 ,000& » 14! 484
Osgxas &0l 5,802
6Ct S A MIH(AEH) 642,000& 2K 1,284
6Ct SAMIH(AH) 473,000 *2K 946
6t SAMIHAHE) 642,000 24 1,284
ggsE My 220,000 »8JH 1,760
2 AN 88, 000& *6H 528
SHE HEAAY 29 31,639 33,024 A 1,385
201 £Br2%| 31,639 33,024 A 1,385
02 =224l 31,639 33,024 A 1,385
OXNZHAAAEH SAE 14,200, 000& *7% 994
OMB (= Md2tel & &) FAIEs
30,000,000 x7% 2,100
OCCTV AIAE RAIE= 41,241,000& *7% 2,887
OUEHZA |FXNE= 6,879
CUHEKZR ZH 66,329, 000& *7% 4,644
- EUXEAIAE(IPS) 25,200,000 *7% 1,764
-2 MJAFXI(UPS) 6,720,000& *7% 471
OXMIBHI(BFHE) FANES 20,958,000 «7% 1,468
OZmOolX 2,696
- 20X |RAE+ 15,000, 000& *12% 1,800
- EHOIX SEAMHA RRES
5,600,000 = 16% 896
OEM2elAMAE SAES 12,771
- DetA 3 1,505,099& 14 1,506
- Ol Ol & il Ol A (ORACLE) 6,200,000 x12% 744
- RFIDEHI 147,429,700 *7% 10,321
- SMS 2 RHAIAE 200,000 =14 200
OZHA 0l 2F Al A E 107,800 =123 1,294
OAlZoIE MHIA 018 550,000 550
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MHo Jor
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Ha
Mo
02

K- B8 S2(3H) - HSAY - BaS il 2
SN2 3235 D84S 27,109 6,026 21,083
201 et A | 7,109 6,026 1,083
01 AFR2 2t 2l dl 7,109 6,026 1,083
OHioled A BHAL S/W 2,069
pPCE YAl S/W 18,2003 742 1,347
- NHE AL S/W 361,000& x2& 722
OMSEXAMHIA OlsE 18+ 15,0004 x12& 3,240
ONAMEH A2F 700
-PC A2 200,000& 23] 400
- IR 300,000& 300
OTPSal PHMMAEX Hige2l A
110, 000& =104 1,100
405 XH&HF S I 20,000 0 20,000
01 JtAY = ZF SHI 20,000 0 20,000
OB HZHO AlAE 20,000, 000& * 14! 20,000
HE2AAL(THUHEZ A 2) 177,240 174,991 2,249
ol 2AHY| 108,799 107,096 1,703
ol 2AH| 108,799 107,096 1,703
101 @121 108,799 107,096 1,708
02 JIEt& 2% 108,799 107,096 1,703
O A2 22 ISQIA(MUAHZE OIx) 108,799
Sl 71,866
-22 AAAM 1,612,170 x2H 128 38,693
- =AM 1,382,170& x2H x12& 33,173
Al 2EQ| & 5,460
-22 BAAM 4,082 *30A| 2+ x2H x12& 2,940
- =AM 3,500 *x30Al 2t*x2H x12& 2,520
Es=g 1,920
- B XAt 40,000& »2H x12& 960
- JIEF 20,0003 4G x12& 960
- JHHFAH| 130, 000& x4 123 6,240
= LH O Bl 220,000 «4H =128 10,560
- A E X 105,000& *4H 123 5,040
- Helg syl 50,000& x4H x12& 2,400
AbA =S 20,0003 x4H x12& 960
- HOLE Al 2,517
-22 BAAM
1,612,170 +84%*1/30%2H x 15! 1,355
- =AM 1,382,170 *84%*1/30%2H x 15! 1,162
PNEER=IEG (e =y 1,836
-0 459,000& *1H *43] 1,836
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AN A2

Ha: BHSAAH(GHEAB)

e Jl=3l (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2

Jl=2&dl 68,441 67,895 546

Jl=Z34 68,441 67,895 546

201 fet2E | 65,121 64,615 506

01 At 22l bl 6,068 6,068 0
ORN=2E =2l 2,880,000& 2,880
OJlzge-d sl 2,688,000 2,688
Osgs ZEEINN =2 500,000& 500

02 5524t 59,053 58,547 506
OFSpIx=1 3,125,500& x12& 37,506
Odot=a 700,000& »12& 8,400
oRE= 270,000 270
OcgY 3z 771,000 123 9,252
OV sz 18,700 x1CH»12& 225
OdMe 2g3(A2) 500,000& =23 1,000
Oxte s bl 2,400,000 2,400

203 =&Yl 3,320 3,280 40

02 H3Jtatg 2= 320 280 40
OZ &t 2| 320,000 320

04 FANE2EERFAH| 3,000 3,000 0
ORN2EERFAH 3,000,000& 3,000




